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Question | Assume that A is an invertible matrix and B is a matrix. Which of the following statement is always correct:
Not yet g (110N || 12|13 [14(|15]||16
AmShEras O a. A 'Bis equal to BA'if and only if AB is equal to BA

Marked out of

12|18 | [19 | [20

2.50 O b.A'Bis equal to BA™
t-Fag O c. All of the presented choices
question Finish attempt ...

d. A'Bis equal to BA'if and only if AB is equal to BA and B is invertible

O e.A'Bis equal to BA'if and only if B is invertible

Clear my choice

Question 2 Assume that A is an invertible matrix and B is a matrix. Which of the following statement is always correct:

Not yet

Sulonits O a. A+B is invertible if and only if B is invertible

Marked out of

2.50 O b. A+B is invertible if and only if A-B is invertible
¥Bag O c. A+Bis invertible if and only if A"'B+l is invertible
question

oy

O d. None of the presented choices

O e. A+B is invertible
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vHag O c. All of the presented choices
question Finish attempt ...

@ d.A'Bis equal to BA'if and only if AB is equal to BA and B is invertible

3
.,J

O e.A'Bis equal to BA™'if and only if B is invertible

Clear my choice

Question 2 Assume that A is an invertible matrix and B is a matrix. Which of the following statement is always correct:
Not yet

AERERGIRG O a. A+Bis invertible if and only if B is invertible

Marked out of

2.50 O b. A+B is invertible if and only if A-B is invertible

¥Hag O c. A+Bis invertible if and only if A"'B+l is invertible

question

® d. None of the presented choices

() e. A+Bis invertible

Clear my choice

Stay in touch

i i

S
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O e.A'Bis equal to BA™if and only if B is invertible Time left 0:52:31

Clear my choice

Question 2 Assume that A is an invertible matrix and B is a matrix. Which of the following statement is always correct:

Not yet

answered O a. A+B is invertible if and only if B is invertible

Marked out of

2.50 O b. A+B is invertible if and only if A-B is invertible
V" Flag @ c. A+Bisinvertible if and only if A"'B+l is invertible
question

&

d. None of the presented choices

e. A+B is invertible

C

Clear my choice

Stay in touch
Contact Info

Data retention summary

[] Get the mobile app -
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O e.A'Bis equal to BA™if and only if B is invertible Time left 0:52:06

Clear my choice

Question 2 Assume that A is an invertible matrix and B is a matrix. Which of the following statement is always correct:
Not yet
answered ~

) a. A+B s invertible if and only if B is invertible
Marked out of

2.50 O b. A+B is invertible if and only if A-B is invertible
V" Flag O c. A+Bis invertible if and only if A”'B+l is invertible

question

d. None of the presented choices

() e. A+B is invertible

Clear my choice

Stay in touch
Contact Info

Data retention summary

[] Get the mobile app -
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O e.A'Bis equal to BA™if and only if B is invertible Time left 0:51:28

Clear my choice

Question 2 Assume that A is an invertible matrix and B is a matrix. Which of the following statement is always correct:

Not yet

answered O a. A+B is invertible if and only if B is invertible

Marked out of

2.50 O b. A+B is invertible if and only if A-B is invertible
V" Flag @ c. A+Bisinvertible if and only if A"'B+l is invertible
question

&

d. None of the presented choices

e. A+B is invertible

C

Clear my choice

Stay in touch
Contact Info

Data retention summary

[] Get the mobile app -

@ http://www.ju.edu.jo
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Question 3 Assume that A,B,C and D are matrices where ACB=D and A,B and D are as follows. Then C needs to be: - -
Not yet 9 (10 | [0 ([12 12|14 |16 (|16
answered . " = s

Marked out of ] ‘4 - - 8 6 e 6
250 A - _2 3 ’ B =

17 (|18 |19 ||20

O o
—t
-

¥ Flag _‘1 y
question ] =2 - - ] 0 () Finish attempt ...
O a. A 3x3 invertible matrix
C b. None of the presented choices
O c. A 3x3 singular matrix
O d. A 2x2 invertible matrix
@ e. A 2x2 singular matrix
Clear my choice
Question 4 . . . : . : :
e Assume that A and B are matrices where B is a column matrix with entries that are equal and their sum is equal
u:ﬁizred to the number of the matrix rows. Knowing that AB is defined, which of the following statements is correct:

Marked out of
9 BN x
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O d. A 2x2 invertible matrix

@ e. A 2x2 singular matrix

Clear my choice

Question 4 . . . : . : :
e Assume that A and B are matrices where B is a column matrix with entries that are equal and their sum is equal
u:ﬁizred to the number of the matrix rows. Knowing that AB is defined, which of the following statements is correct:

Marked out of
2.50

¥ Flag O a. AB is a column matrix with equal entries
question

O b. More information are required

O c. AB is a row matrix with equal entries

@ d. AB is a column matrix where each entry is equal to the average of the corresponding row in A

O

e. AB is a row matrix where each entry is equal to the average of the corresponding column in A

Clear my choice

Ctavi 1l Foarirh
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For the following system of linear equations. Which of the following statements is ALWAYS correct:
a([10}|lMm 12

5
L YR ‘m 14‘ 15 | (16

answered

X +% +ax, =4

Marked out of

17 | (18 || 19 | |20

250 X, +x, +0x =4,
v Flag )
question ax 7 7 ﬁl‘: T X3 = /13 Finish attempt ...

® a. The system has a nontrivial solution if and only if Ay, A, and Az are equal to zero and a and B are equal
~
L. All of the presented choices

O c. The system has a unique solution if and only if a and B are equal

O d. The system has a nontrivial solution if and only if A, A2 and Az are equal to zero

O e. The system has a unique solution if and only if A, A, and A3 are equal to zero

Clear my choice

Question B For the following system of linear equations. Which of the following statements is ALWAYS correct:
Mot vet x
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O d. The system has a nontrivial solution if and only if Aj, A2 and A3z are equal to zero

O e. The system has a unique solution if and only if A, A, and A3 are equal to zero

Clear my choice

Question 6 For the following system of linear equations. Which of the following statements is ALWAYS correct:
Not yet

AR x+x +tax, =4

Marked out of

2.50 X, tX,+ ;5’1‘3 = ﬁ:

¥ Fla

questignn {I.TI ¥ ﬁr! + .’(‘3 - Aﬂ

O d. The system can be solved using Cramer’s rule if and only if a and B are equal

b. None of the presented choices

“The system can be solved using Cramer’s rule if and only if Ay, A2 and Az are equal to zero
O d. The system can be solved using Cramer’s rule if and only if Ay, A2 and A3 are equal to zero and a and B are

equal

- © The system can be solved using Cramer's rule if and only if A, A, and A; are equal to zero

Clear my choice
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Question / Assume that A is a non-singular matrix. Which of the following statement is always correct: 1 h h I ‘

Not yet 9 (10| ||12|13||14|[15(]|]16
HaRswRmd O a. The corresponding adjoint matrix is non-singular
Marked out of
2.50 @® b.Both AT and the adjoint matrix have to be invertible 17111819120
a3 Flﬂ_@ O c. The corresponding adjoint matrix is singular
question Finish attempt ...

~ 9 None of the presented choices

Y e ATisq non-singular matrix

Clear my choice
Question 8 . 9 : . : . .
Assume that u and v are nonzero vectors in R* where the following equation is applicable. Which of the
Not yet : ;
L following statements is correct:

answered
Marked out of 2 > 2
2.50 “H TV = HH + ”*Lr

v Flag -
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Time left 0:37:08

oy

- € ATis a non-singular matrix

Clear my choice

tion 8 . ; o . .
ahpsiod Assume that u and v are nonzero vectors in R® where the following equation is applicable. Which of the

Not yet

following statements is correct:
answered

Marked out of

2.50 “H +V

Y Flag
question

p.

4o

= o

@ a. The set that consists of u and v is an orthogonal set and the dot product of such vectors has to be zero
O b. The set that consists of u and v is an orthogonal set
O c. The dot product of such vectors has to be zero

O d. The angle between the two vector is zero

- ©- All of the presented choices

Clear my choice
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1
Questiﬂng : i i hiuuuuuu
Assume that S; and S; are two sets of vectors where the vectors in S; are orthogonal to the ones in S;. Which of

Not yet : ;
o the following statements is correct: ‘ 2 \ ‘ 13 ‘ ‘ ‘ [ 15 ‘ ‘ ‘
answered
Marked out of
550 ‘ 17 || 18 ‘ 19| ;20
¥ Flag O a. The vector that is represented as a linear combination of the vectors in S, is orthogonal to the vector that
question is represented as a linear combination of the vectors in S, Finish attempt ...
@ b. All of the presented choices
@5
~ 7 §;and S» have the same number of vectors
O d : :
~ 7" The set that consists of the two sets is orthogonal
~ © The set that consists of the two sets is orthogonal, and §; and S; have the same number of vectors
Clear my choice
Question 10 i B ] .
Assume that u and v are nonzero vectors in R= which are orthogonal to a nonzero vector s. Which of the
Not yet : .
A following statements is correct:
answered

Marked out of

-
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o

~ © The set that consists of the two sets is orthogonal, and $; and S; have the same number of Time left 0:33:10

Clear my choice

Question 10 ) . .
Assume that u and v are nonzero vectors in R? which are orthogonal to a nonzero vector s. Which of the
Not yet : .
. following statements is correct:
answered

Marked out of

2.50
¥ Flag O a.uand v are dependent
question
@ b. None of the presented choices
O c.uand v are orthogonal and independent

!

~ d.uand v are independent

e

C

"u and v are orthogonal

Clear my choice
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] 2 3 4 5 6 7 8
Question 11 Which of the following statements is correct: - - h H - - h h

S o [ |[m]2](1B3][14][1B][16
S O a. The row matrices can be considered as a vector space 1
Marked out of
2.50 ® b. The column matrices can be considered as a vector space and the row matrices can be considered as ‘ 17 ‘ ‘ 18 ‘ ‘ 191120 ‘
¥ Flag a vector space
uestion : : : : ini
i O c.The column matrices can be considered as a vector space but the row matrices cannot be considered FiniE atemp..
as a vector space
O d. The column matrices cannot be considered as a vector space but the row matrices can be considered
as a vector space
O e. The column matrices can be considered as a vector space
Clear my choice
Question 12 : : .
Which of the following statements is correct:
Not yet
answered

Marked out of
2.50 ) a. The unit vectors can be considered as a vector space

" Flag N b

question =~ The standard unit vectors can be considered as a vector space
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O e. The column matrices can be considered as a vector space

Clear my choice

Question 12 ) ] ]
Which of the following statements is correct:
Not yet

answered

Marked out of
2.50

O

a. The unit vectors can be considered as a vector space

¥ Flag
question B. The standard unit vectors can be considered as a vector space

Q

® c. None of the presented choices
O d. The standard unit vectors are closed under the scaler multiplication

() e. The unit vectors are closed under addition

Clear my choice

[ ]

stay

N touch
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Question 13 ] i . ] .
Assume that A is a 3x3 matrix whose the entries in the two diagonal are ones and zeros elsewhere. The rank(A)
S - gl(w][n|[2]|3])ha][15][16
is:

Marked out of

s ‘I?H]BH]QHQD‘
¥ Flag Wi
question O b Finish attempt ...
=~ " None of the presented choices
@ Ui
@ d. 2
O e. 0
Clear my choice
Question ]4 d ) . . i
Assume that A is a 4x4 matrix whose the entries in the two diagonal are ones and zeros elsewhere. The rank(A)
N
ot yet o
answered
Marked out of
2.50
¥ Flag it
CIILJE'StEDr'I ,S b

" None of the presented choices
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IiNisnN attempt ...

@ o

* None of the presented choices Time left 0:24:12

@
® d. 2

O e. 0

Clear my choice

Question ]4 - - - - :
Assume that A is a 4x4 matrix whose the entries in the two diagonal are ones and zeros elsewhere. The rank(A)
Not yet :
et Is:
answered
Marked out of
2.50
¥ Flag ()lies ]
question
@ :
~ 7" None of the presented choices
O c0
® d. 2
O 8.3

Clear my choice
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i - - osi | HHHHHHHH
Assume that A is a 4x4 matrix whose the entries in the two diagonal are ones and zeros elsewhere. The

Not yet : :

He nullity(A) is: ‘ H H HIEHHHMH \

answered

&

3

— Marked out of
‘{f" F||;]g ':3 Cl. ]
guestion —— Finish attempt ...
o, -

O c. None of the presented choices
@ d.2
O e 0

Clear my choice

Question ]6 _ . .
Sl Which of the following statements is correct:
ot ye

answered

Marked out of
2.50 O a. The set of polynomials is a vector space

¥ Fag ) b. The set of polvhomials that satisfv (P(x)=P(-x)) is not a vector space
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¥ F|Eﬂg G a. l
guestion o Finish attempt ...

O c. None of the presented choices

® d. 2
O e 0

Clear my choice

Question ]6 : ' .
A Which of the following statements is correct:
ot ye

answered

Marked out of
2.50 O a. The set of polynomials is a vector space

;;Eﬁin ) b. The set of polynomials that satisfy (P(x)=P(-x)) is not a vector space
O c. All of the presented choices

O d. The set of polynomials with even coefficient is a vector space

@ e.The set of polynomials and the set of polynomials that satisfy (P(x)=P(-x)) are vector spaces

Clear my choice
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Question 17 i . . :
For the set of zero functions, which of the following statements is correct:
Not yet
answered

Marked out of 50
2.50 O a.ltis closed under multiplication ‘ \ ‘ ‘ ‘
! Hu_g @ b.Itis avector space I
question Finish attempt ...

O c.ltis closed under scaler multiplication only

O d. Itis closed under addition only

) © None of the presented choices

Clear my choice
Question 18 : : ; : :
Assume that A is an mxn transformation matrix. The codomain and the domain are:

Not yet
answered

Marked out of -
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2.50 O a.lt] iplicati :
a. It is closed under multiplication Time left 0:15:18
FLER ® Db.Itis avector space .
question Finish attempt ...

O c.ltis closed under scaler multiplication only

O d. It is closed under addition only

€ None of the presented choices

Clear my choice

tion 18 . .
i Assume that A is an mxn transformation matrix. The codomain and the domain are:
Not yet

answered

Marked out of
2.50 O a.R"and R"

¥ Flag
question

D)

) b.Should be the same

O ¢.R"and R™M

O

d. RMand R™M

e.RMand R"

O

Clear my choice
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2.50 O a.lt] iplicati :
a. It is closed under multiplication Time left 0:12:07
FLER ® Db.Itis avector space .
question Finish attempt ...

O c.ltis closed under scaler multiplication only

O d. It is closed under addition only

€ None of the presented choices

Clear my choice

tion 18 . .
i Assume that A is an mxn transformation matrix. The codomain and the domain are:
Not yet

answered

Marked out of
2.50 O a.R"and R"

¥ Flag
question

D)

) b.Should be the same

O ¢.R"and R™M

O

d. RMand R™M

e.RMand R"

O

Clear my choice
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Question ]g : : ; . > . .
For a non-singular matrix A whose column vectors are linearly independent, which of the following statement is - - - - - - - -
Not yet
e ALWAYS correct:

- - - - - - - -
Marked out of

: mm |

¥ Flag = % Nullity of A is half of its rank
guestion Finish attempt ...

Q

b. Rank of A equals its nullity

O

€ Rank of A is half of its nullity

O d.Rank of A is one third of its nullity

@ e. None of the presented choices

Clear my choice

Question 20 For a non-singular matrix A whose column vectors are linearly independent, which of the following statement is
Not yet ALWAYS correct:

answered

Marked out of O a. All of the presented choices

2.50

¥ Flag O b. The basis column vectors and the basis row vectors are equal, and the domain and codomain are the
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- © Rank of A is half of its nullity

O d.Rank of A is one third of its nullity

@ e. None of the presented choices

Clear my choice

Question 20 For a non-singular matrix A whose column vectors are linearly independent, which of the following statement is
Not yet ALWAYS correct:

answered

Marked out of @ a. All of the presented choices

2.50

¥ Flag O b. The basis column vectors and the basis row vectors are equal, and the domain and codomain are the
question same

) ¢. The domain and codomain are the same

O

d The spaces spanned by the row vectors and the column vectors are the same

"y

~ © The basis column vectors and the basis row vectors are equal

Clear my choice
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D. KaNkK O A equails Its nNulity

Time left 0:00:12

~ © Rank of A is half of its nullity

O d.Rank of A is one third of its nullity

® e. None of the presented choices

Clear my choice

Question 20 For a non-singular matrix A whose column vectors are linearly independent, which of the following statement is
Not yet ALWAYS correct:

answered

Marked out of @ a. All of the presented choices

2.50

¥ Flag O b. The basis column vectors and the basis row vectors are equal, and the domain and codomain are the
question same

() ¢. The domain and codomain are the same

Q d 1he spaces spanned by the row vectors and the column vectors are the same

~ © The basis column vectors and the basis row vectors are equal

Clear my choice




